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Q.1 Multiple choice Question / ajfs U=

(i)

(i)

(iii)

(iv)

v)

Q.2

Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

faemeft yequa R §8 fad & | yom uea ga o3 AFEr 2
9E F. 2 9 8 OF A Bl uid &1 I < AfErd 2

Dual systems using twin direct radiators are available as-

g SeRae IITeR HT SUIRT A dTell I Ul & ®U H Iuael g—
(a) Two completely separate units / &1 4 =g & 37T SHTRAT

(b) An integral unit / & sifa=1 s&18

(c) Either (a) or (b) / =@r @1 (©) = (&)

(d) Both (a) and (b) / <1 (©) 3R (&)

Crossover networks means-

HIFAAR D & —

(a) Extend the frequency range / wigait 351 @1 faar &
(b) Compress the frequency range / smgfy ¥o1 &1 ddifed &
(c) Reduce distortion / sy &1 w1 &= &

(d) Increase distortion / fawfa # gfg &

The velocity at which the stylus of magnetic-recording heads vibrates -

g I RO R gEaa—ReIET yg@t a1 Aol Hue el 2

(a) Is directly proportional to the recording signal strength / R&ifEn Rreia o oifea @
(b) Is exponentially related to the recording signal strength / osft & RetfET Rt a1
(c) Is inversely proportional to the recording signal strength / Rt Riear @ wifea

(d) Is not related to the recording signal strength / R&1fET Rr=iar o drea & Hefea =2

Before recording, base signal voltages from the recording amplifier are-
RS & tgal, RIET TefiwRR & 99 R dleew &
(a) Attenuated / @3

(b) Boosted / sgrar

(c) Neither () nor (b)/ = @1 (©) 3R 7 & @)

(d) All of the above / SwRra a4t

Aspect ratios of 4:3 are -

4:3 o7 arguTd B—

(a) Most pleasing to the eye/ 7wl & aTT 3BT T

(b) Least pleasing to the eye/ 3@l &1 &H 3reeT =T

(c) Most fatiguing to the eye / ar@l &1 wa9 Afd® oHT <1
(d) Least fatiguing to the eye/ 1@t @1 &9 &1 <1

(a) Explain modulation techniques of TV technology.
A1 drENfTa & AfgaT dadl BT ARAT N |

(b) Difference between CD and DVD.
AT iR I & g 3R forlRag |

[2x5=10] Marks

BICECISEIRE
wfad & Hefa
@ famRa smguTis

g
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Q.3 () Write short note on-
gy femof fefRay—
i) Serrated Aspect ratio / uge] srgurd
ii) Scanning/ T
iii) Vertical Resolution/ aféwar Rt

(b) Write down the movie maker and nero wave.
1 fomtar ok == 99 37 fafag |

Q.4 (a) Compare MPEG1, MPEG2 and MPEGS3.
MPEG1, MPEG2 3k MPEG3 & e &1foiy |

(b) Write down the features of LCE projector.
TAH. $. Uroraer @ faevary fafag |

Q5 (a) Explain the five advantage of multimedia.
AIISAT & T o™ BT AT |
(b) Explain LCD and CCTV.
TAAIET @R ARSI Fwste |

Q.6 (a) Draw the diagram of superhetrodyne radio receiver and explain its working.
AT RAR BT NG g7 3R SHDb T ) AT B |
(b) Which type of microphone is used in PA system and why?
9y Ried # 5 TBR & AIgHI% &1 YN fHar Srar € sik w&ii?

Q.7 (a) Explain the monochrome TV receiver.
AP S RAER BT TSy |
(b) Explain HD DVD.
HD St w938y |

Q.8 (a) Describe the construction of a carbon microphone with help of a neat sketch. Also explain its
functions and characteristic.
TP ATh Whd Bl ASE W Th PHIe- ATShIBE & AT b7 quid. faRay | sad remar u= draf iR fawieer &1 ==
DI |
(b) Explain the moving coil cone type loud speaker with the help of diagram.
NG 1 WERIAT ¥ A H8ell ¥ TR B AISS WIHR DI FHeMY |
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Q.1 Multiple choice Question / axj= we= [2x5=10]

(i) An AM demodulator can be implemented with a linear multiplier followed by a filter-
tH AM SHrgereR 31 e WRad qord & A an] fBar S dadr g R 99 918 [ESARERIRSISEI
e
(a) Low- pass / &H—ure (b) High -pass/ gr$—urs
(c) Band- pass / ds—ur< (d) Band- stop / §s—<fu
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(i)

(iii)

The intermediate frequency in a standard AM receiver is —

& AE AM RefieR & Aot 32—

(a) 455 Hz (b) 455 kHz

(c) 4.55 MHz (d) None of the above / s & ®15 781

In order for a light ray to propagate along a fiber-optic cable, what must the

between the angle of incidence and the critical angle-
TEh THTeT R0 & oy BresaR—aiifed dad & A1 YaR 34 & oY, ¥e & BV 3R Aol IV & 19 a1 HaeT

BT A1eT—

(a) 6 > Oc (b) 6; <6

(c) 6;= 6, (d) None of the above / s & ®15 781
(iv) Light may be propagated along a fiber-optic cable in which of the following

(v)

UHTY BT BIgaR—3iifcd Haa & el fFr=forRed # 9 fvd Are o w=iRa foan o1 daar 8-
(a) Multimode step index/ #edrie wu ea=

(b) Single-mode step index / Rive— Are wu oo«

(c) Multimode graded index / #edrs srfiag g

(d) All of the above / s @ft

In AM, the carrier is changed by a modulating signal. What parameter of the

changed -

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

AM ¥, aES 31 & ArsaieT Rrd gN 9ea faam o 8-
(@) Amplitude / s (b) Frequency / smgfea
(c) Pulse width / uer =rerg (d) Phase / ==ur

(a) Difference between TDMA, FDMA, CDMA.
CDMA, TDMA, FDMA & dr= ofdr fafag |
(b) Explain PRF and pulse width.

PRF 3R uex1 dierE &I 99ssy |

(a) What is handoff? Explain hand off mechanism.

STIH AT 27 TSIATH B ARAT BT |

(b) Write short note on:-

oy fewolt faRay—

(i) Apogee / amdrsit (i) Foot print / e fiie (iii) LEO / wigan

(a) Explain block diagram of satellite earth station.
ITUE Yol WA & D 3N B! ARAT BT |

(b) Write down the working principle of RADAR.
RADAR & s1d fRrgia &1 fafav |

(a) Write down the different types of fiber with their refractive index.
A= JPR & =T BT ST JadiD Gadid b AT ARy |

(b) Explain PPI with neat diagram.

A NG & AT GGIeTE FHSSY |

(a) Write down the principle of optical fiber communication.
Jiftcdra HIRaR HaR & Rigla &1 fafay |

(b) Explain working principle of PIN photodiode.

i wieere & &1 Rigid o1 FwsEy |

What is dispersion? Explain model dispersion.

relationship be

modes —

carrier is
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Q.8

BT FIT 87 Hied Helld &I AT DI |

(b) Discuss basic principle of cellular communication in brief.

ey H TR AR & gl Rigia W FEt B |

What is Bluetooth technology? Write down some of its application.
e HrEnfiret & 2° THG v SrpanT fafay |

(b) Write short note / Fire ferRag—

(i) OTDR / sirér€em

(ii) DTH / Srére=

(iii) MTI / wdtems
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Y . 2 9§ 8 O B fh-el Ui &I S o« Afrard 2 |

Q.1 Multiple choice Question / a&j~= we= [2x5=10]

(i)

(i)

(iii)

(iv)

v)

Q.2

Which is of the following languages is more suited to a structural program-
e 3 4 B9 W A v WReAHd BrdhH @ foy eiftie Sugad 28—

(a) PL1/ dY teT 1 (b) Fortran/ wrea

(c) Basic/ afiw (d) Pascal/ urR@e

A computer assisted method for recording and analyzing of existing or hypothetical system is -
ASeT 1 FENAes Ried & RaifET &k ey & oy te arger aRRes a8 23—

(a) Data transmission / Ser1 gidfie (b) Data flow/ Ser1 weit

(c) Data capture/ Se1 @R (d) Data processing/ Ser wrfiT

The brain of the computer system is-

HFICY YITel! BT ARTSD B—

(@) ALU /vgez, (b) Memory / wfa

(c) CPU/ =indrg, (d) Control unit / f==or

What difference does the 5 generation computer have from the another generation
5 fIdT & FHregex § gad W) & 9T R B

(@) Technological advancement / d@&=ra S=fT

(b) Scientific code / d=nfe wfgar

(c) Object oriented program/ sifssiae sfiRdcs Urm

(d) All of these / SwRraa w+ft

The binary system use power of -

g Rveg STt & wifed §-

(a) 3 (b) 2
()5 (d)8

(a) Explain structure of C program in brief.
A FRIHH B W B G H FHSSy |

(b) Write characteristics of a good program.
U 3 By P [A9vang faRau |
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Q.3

Q.4

Q5

Q.6

Q.7

Q8

Q.9

(a) Explain the working of compiler assembler and interpreter.

FHUGER TR 3R AT HT B F911=Y |

(b) Differentiate between top down and bottom up programming techniques. Also explain each.
FWR A 3R A g daer @ 9 SR, Uhe BT W GESIEy |

(a) What do you mean by key words? Write any five key words of 'C".
ATIPT A Tl F 1 A9 27 'C'd 5 f uim ugw vres faRag )

(b) Write the name of any five header file with their uses.

el +ff i TR BIRA BT AW SHe SUEN & A faREy |

(a) Define/ farfRa @iforg—

i) Expression/ 9ra

ii) Statements/ @wer

(b) Write the significance of preprocessor directives and data types in' C'.
R et @ik Ser ueR in' C &1 7w fofag |

(a) What is increment and decrement operator? Explain ++A and A++.
9 glg SR PHAI 3iTUReR AT 87 WRIPRY ++ T 3R T ++ |

(b) Describe exit (), size of ().

exit (), size of () &1 aviw BT |

(a) Explain operators precedence and associatively.
MR B RIar iR Agad & IR # qarsy |

(b) Explain following operators/ fr=feiRaa sifavesi &l |Hsmsy—
(i) Arithmetic/ srafore (i) Assignment/ srrgric
(iii) Relational/ wserore (iv) Bitwise/ facarsst

(a) What is loop? Explain iterative loop.

U T 7 ARATHS U B AT DI |

(b) What do you mean by branching statements? How it is different from unconditional branching?
YMERIET P F AHT T AU 27 I8 37 o6 o=ar | el $9 87

(a) Write a program in 'C' to create a table of five using any loop.

et off o BT ST IxSD i B It a9 @ forg 'C'H va T fiRag |
(b) Define with suitable examples-

IUYA SETER0T & A1l gRHTRT Biforg—

(i) Break- continue statement/ faR— wer SRy <&

(ii) Go to statement/ gam™ W Y

(i) Switch case statement/ Raa &a wReHe
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